S=FREE

’ oOZAl A2
noonz
4 Z2 1
0~
© 9o
n S O
DO O
©0sowol s
S sow

o
L N
[n g £ E N \
o o \ \
\ \
L g . . \ \
\ \
I < s - \ \
B \ \
N ciwvia « N AN
“Sn=an o \ \
n oz zZ2 ZzZ / /
I EToRTo) \ \
onLN~NO 1o / \
nsSsoso ©0 \
© S -+ < \

S .09 o
[} 0]

(1)

AN

A3

AN N

>0 o WL, ol
o o QM Q\,.D ~«” > , \
- N/ . ,\..‘9 //
s S .»O\\, . L\”\ b \‘.
ko.\dmr.m.nﬁ.\h 2
n g \kﬁ/.ﬁ..
y \\~ M o R
'/ OQ&.\ o n/ N
@
\fo \\., @3
'y /
m.\ \\% f 0
A s
; \\QW
Q
0m \ \ N /&
o I/ /
P / /







0300

350

350

350
300

350

350

10cm

(m)

t

=15cm

t

=5cm
0

=5cm

=%5cm
t

t

40
ARC-
(ARC- 40

350

|
1

|
T

150 150 200

150 150 150

350 100

1

40

(m)

NANN
~NEEE
Ewww
nwummm
o .
.coo
onin
-
—x x x
* OO LW
nwummm

=<0
[7 RSN 4

g nu

aN N
o EddEn
£ o
O MN~~

o<t . . .

E .coco

woll Il

un
<<
EEEE
oooo
owwwn
~ i

| PR

(m)

PN

-
~a

Em
EoE

ocooo

.0cm
0
0

(m)
=15

/)
\
Z

\
\
\

(1)

EE
oo
ocw©
<o
[]

L

N x
*x O
N ©

=15cm

(m)

t

=] o

oo €&
nwm o
11w
—

-

m
m
t:25cm(

™ e
mEdHO I
Eoox x Il
Nmoo
© .©o©
E .o . .ddd
OO IlOOx x %
ol ooo
o N
-
I~ x

*x 0 o

Ol

ARC- 40

1000




|
€|
=]

EEAGHE
(&R 150ALLF)

B2 ) -+

H B B
BEHHHE 50 i
B — LSRR MERA 2
_pIEE 29— MR E SRR 30 N/mm
5500
350 58 100120 180275=4950 120,100, 55
65| _6010060_ |65 ) JRNE YT (301380) )
@ bio ] @ D10 /
- /-
7] A b
e /
S 8 % ® b10 7
I M.+ /
5 SOVANG /
) @ bi3 /
Bi# t=10m ® D10 @ pi3
708017065
5500
55,100,120 180275=4950 120,100 155
| o
® D10 / @ Di3 G MR AFE 210° Ki/m® BLE
J ) WIRISEAT 5 (& HOEH D
= » w5 DR L Y EF)
&l / —= L. ZOMETESLEEENS
B 2 &S 17 S BECEHNAERT560LT 5,
< [=]
& / 5
cn? /
/
B4t t=10mm @ D10 ® pio
SHI MR BN avg)— FERER :
5. 50m U ' 5. 50m% Y
, S 65 75 100 125 150 =
B2 a | A% R ¢ |BuE=s| 8 =B - 1%
(mm) | Cke/m) | (kg) SEIRER ® ] 0123 | 0123 | 0.123 | 0.123 | 0.123 | 0.35x0.35 m?
e 1 | bto 4 5390 | 0.560 | 12.074 A FTEEE 0.0045 | 0.0062 | 0.0102 | 0.0154 | 0.0214 | =nd24 m?
:i A 2 D3 4 5, 390 0.995 | 21.452 RUTE © ] 0.1180 | 0.1163 | 0.1123 | 0.1071 | 0.1011 | ®-® m?
g 3 | pto | 23 880 | 0.560 | 11.334 avs)—rEE @ 0.649 | 0.640 | 0.618 | 0.589 | 0.556 | (© x5.50 m®
4 | D10 | 23 270 | 0.560 3.478 3 55.0m %Y 6.49 6.40 6.18 5.89 55 | @®x10
DI3LAT = 48. 338kg X Bt 10 (55.0m/5.50m ) x 0.123m2 = 1.23m2 t = 10mm
355, Om24 U DI3LLT = 483. 380ke ‘ X ERERAE 0.35 x 55.0m = 19. 25m*
GE) #EIZ.5D2BADERERRET B, GEx) R4 FENPE LTCOSBERT

ERI 9o v—FUEANDGSITRERES L LD,
XED 55.0m HY O¥BEFT,

&=




@

/.

$iE

(B2

A 5

5500

BT 9 ) — b

" H

BERETE

Ay ) — MERETEETRE

170275=4675

b4 240 54

J RLVEYF (301380)

\ B4 t=10mm

FEE

5500

170275=4675

GE) IR NFE 1 x10° kN/m® Bk
WARICEAT 5 (&K KHOED SR

iR L YRH)

TE. TOMEETES LHEESHD

BEICFNEERTELDET S,

110[110465)

65,_ 220 65

Bttt t=10m

5.50m= Y

avy - FERER

HAEE | B B
(ke/m) | (keg)

wmE

5.50m& Y

65 75 100 125 150 B

0. 560 6. 037

SR ETR ®

0.123 0.123 0.123 0.123 | 0.123 0.35x0.35 m?

0. 560 9.055

184 TUER

0.0045 | 0.0062 | 0.0102 | O. 0 1|5@0214 | wd%74

0.560 10. 842

KMTE ©

0.1180 | 0.1163 | 0.1123 | 0.1071 | 0.1011 | ®-®

D10

0. 560 3.326

avyy—rEE @

0. 649 0. 640 0.618 0.589 0.556 | (© x5.50

DI3LATF = 29.260kg

2 55.0m HY

6. 49 6.40 6.18 5.89 5.56 ® x10

%55, Om24 Y

D13LLF. = 292. 600kg

X B

108/ ( 55.0m/5.50m ) x 0.123m% = 1.23m? t = 10mm

(F) #EIIZ.SD295ADEREREET B,

X ERERAE

0.35 x 55.0m = 19. 25m?

GE) 1. A TRVWPLLTCOBEETT,
BRI T vox—FUEANDEEITHBMET L LA,
SKE 55.0m 2 Y OHEETRT,




(B 2m)

850

(1)




S=FREE

(1)

420
00
< 08 ||v_\ DN~ Y
— v — X 2 =
. 4\ = ™
01T o< 01T lw* -
< 0¢2 I




